Math 1211: Quiz #7 Winter 2016
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1. Find the Cartesian (z,y) coordinates of the point with polar coordinates (r,8) = (3,32).
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2. Give three distinct pairs of polar coordinates for the point (z,9) = (-2,-2).
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Math 1211: Quiz #7 Winter 2016
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1. Find the Cartesian
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(z,y) coordinates of the point with polar coordinates (r, ) = (4, 2r).
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2. Give three distinct pairs of polar coordinates for the point (z,9) = (3, -3).
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3. Sketch the polar curve r = 1 — sin 6.
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Math 1211: Quiz #7 Winter 2016

Name: ¢, LLTLoN S I A#: | Section:

1. Find the Cartesian (z,y) coordinates of the point with polar coordinates (r,0) = (2,%).
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2. Give three distinct pairs of polar coordinates for the point (z,y) = (1, —/3).
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3. Sketch the polar curve r = 1 -+ sin 4.
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